1. 12 possible outcomes.
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2. P(favorite lunch) = 
3. P(at least one favorite lunch item) = 

	4. 
	
	Bucket 1

	
	
	red
	blue
	green
	yellow

	Bucket 2
	red
	RR
	BR
	GR
	YR

	
	yellow
	RY
	BY
	GY
	YY

	
	green
	RG
	BG
	GG
	YG



5. P(green from Bucket 1, yellow from Bucket 2) = 
6. P(no blue marble) = 
7. P(2 blue marbles) = 
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Sandwich  Vegetable Fruit

Start Hamburger

Turkey

Outcome
Chicken-Carrots-Apple
Chicken-Carrots-Banana
Chicken-Spinach-Apple
Chicken-Spinach-Banana
Hamburger-Carrots-Apple
Hamburger-Carrots-8anana
Hamburger-Spinach-Apple
Hamburger-Spinach-Banana
Turkey-Carrots-Apple
Turkey-Carrots-Banana
Turkey-Spinach-Apple
Turkey-Spinach-Banana




